a(d cot(B))

5107 ks
" 107

107 i

1072

P | PRI N ARSI AP N MNP A A I I P .
] 1.0

105

10

Ratl
Ratio

iy
'
s
ey

[T
N

|
=

o 1 2 3 092 o 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

[T
N

|
=

0.95!

- —
= I
G G
°e )
= ~
< -
° o
) 2
) [s]

100%....!....!....!....!....!.... 103

10
10

Rati
Rati

iy

W

W

=2 -1 0 1 2 3 09832 1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

0.95

.
| | MliA | |

10%

10

Rati

iy

W[

2 -1 0 1 2 3
TP n (PCA to beamline)

0.95



	Contents
	Page 1


